


@1

o] 817} (-1, 2)

o,



2x+4y = -3

3. 44944 { of a7t ZAsHA ¢b= o, a 9

ax+2y =72
sfed et

Be-

fle



a=x+2y

ol &7t (2, 3) & W, a, b 2 27

bx + 4y = 22

Da=2,b=5

@ a=5 b=8

@ a=5b=2 ®a=2b=38

® a=8,b=5



5(x=2)+y=0
0.4x—0.3y = 0.8

|

D

a

.

ul

2



6.  chulo]e} glube] hole] e 604rel T, 5 Fol glupe] o]}
chulo] o] ifelo] 3 Ehit 2 Ao] € BT}, qnto] ho]S Fatolat,

> EE Al



ZFerol7h Aol A 10km Bzl of|2old| RH7kA] AHAE Btal 7k 2L
Zotrh. A AE B A% 12km 2 FE|t7t EEo] A A
AFUA Al dkm 2 ZoZtHY B 2 A7ko] AFH. AAE
Bt ZF A2l 2 km 4717

@ 3km @ 4km ® 6km @ Tkm ® 8km



=
=

17 QAR 2y = —x+a

S

94

@0



AFLAHA 3x+ 2y -1 = 2(x+y) + 10 = 3y + 45 Zojeh,

9.

D

a

.

ul

2



10.

10% 9] Aa=el 2= 4014 8% 9] &a= 5008 =

ol i, 10% 9] 25&2] ¥=& T3tofzt

YEE g

a

=9 ¢t



